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MATH 34001 Fundamental Concepts of Algebra

Spring 2015

MWTF 11:00 Dr. Kracht
B

Name: K Quiz Score: /20

Quiz 4: Friday, February 13, 2015

No calculators.

1. (8 pts) Perform the long division by hand to find the decimal expansion, terminating or repeating, of each of
the following rational numbers.
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2. (12 pts) Convert the following repeating decimal numbers to fractions in lowest terms.

(a) 0.4999... =049 (b) 0.001232323... = 0.00123

it X= 0.44949-- et x= 6.001222222.. .
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Do you know another decimal expansion for 0.49?

Voo : 0.8



